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After Noon Session (13-10-2024)

One of the following is an incorrect sequence with respect to
the rule,Development follows an orderly sequence’.

1. Alphabet — Words - Sentences

2. Addition — Subtraction — Multiplication - Division

3. Baby teeth — Permanent teeth

4. Speaking — Listening — Reading — Writing
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According to Kohlberg the characteristics in post conventional
Morality

1. Establishment of Social order
2. Determining right and wrong by results
3. To think that everything that fulfills his needs is right

4. Want to follow universal moral values
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The Characterstic of Early Adolescent stage

I. Stability of physical changes

2 Criticizing the community

3. Stay calm

4 Dealing consistently with heterosexuals
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According to the Erikson the stage where individuals idolize
and imitate others

1. Childhood

2. Play stage

3. Early Adulthood

4. Adolescence

QOT AT TFOT Qé}ﬁ%fa ANJONICVEENWIH] @%_)gﬂéﬁ ‘aédd?\’){l
BTIHAT WV OITORT TOI

1. meroéd,'ﬂ
@
2. 30m 0T
3. mamom;ss
4. @doméaﬂ
@

Universal grammar theory is related to

1. Skinner
2. Bandura
3. Chomsky
4. Galton
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The process to forget the painful things, failures, insults and
experiences is

1. Projection

2. Repression

3. Regression

-+ Compensation
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The father of mental health movement

1. Bernard

2. Gates

3. Clifford Beers

4. Jersild
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Persons with this type of thinking will get good score in tests
related to creativity

1. Concrete thinking
2. Abstract thinking
3. Associative thinking

4. Divergent thinking
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Nagalakshmi makes friendship easily with new persons. This
type of intelligence is

l. Social Intelligence
2. Mechanical Intelligence
3. Abstract Intelligence

4. Concrete Intelligence
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10.

I1.

In an experiment on ‘studying the influence of glucose on the
activeness of the student’, the variable ‘activeness’ of the
student is

1. Dependent variable

2. Independent variable
3. Intervening variable
4. Uncontrolled variable
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This law describes the tendency to perceive objects that are
close to one another.

Law of Continuity
Law of Proximity

Law of Similarity
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13.

“Any relatively permanent change in behaviour that occurs
as a result of reinforcement and practice”.This definition is

related to

1. Personality

2. Memory

3. Learning

4. Development
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Identify the wrong statement with regard to emotions

1.

2.
3.
4

Children learn emotions by imitation
Children learn emotions by conditioning
Children are born with the emotion of fear

Along with attaining physical, mental maturity children
get emotional maturity.
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The type of learning curves occur when learning material is
initially very complex, gradually becomes easy and at last
again they are complex

1. Positively Accelerated
2. Negatively Accelerated
3. ‘S’ shaped

4. Typical
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This theory states that ‘the similarity of keyboard in type
writer and computer makes a person who knows type writing
can learn computer easily’

1. Theory of formal discipline

2. Theory of Identical elements

3. Theory of generalization

4. Theory of ideals
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17.

According to Vygotsky the following is an example for higher
mental process

1. Questioning

2. Comparing

3. Identifying

4. Synthesis
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Identify the correct pair
1 Cognitive domain - Receiving

2 Psychomotor domain - Manipulation

3 Cognitive domain - Characterization

4 Affective domain - Analysis
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19.

Secondary need among the following is

1. Air

2. Temperature
3. Exercise

4 Clothes
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The concept that formed in children between age group of
3 - 5 years.

1. Time concept

2. Money concept

3 Colour concept

4. Beauty concept
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21.

An abnormal forgetting that can be occurred from mental or

physical trauma

1. Amnesia
2. Hallucinations
3. Hysteria
4. Schizophrenia
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The concept ‘Learning disability’ was introduced by

1. Samuel Kirk

2. Piaget

3. Vygotsky

4. Karl Rogers
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22.

23.

24.

Meaning of the file format ‘.docx’
‘.docx’ q‘%@ TORIVEETE O

A

Word document
Word star document
Microsoft word open XML document

Microsoft plane text file

‘NCPF’ stands for

‘NCPF’ Q08

I. National Council of Primary Frame work

2. National Curricular and Pedagogical Frame work
National Curriculum and Primary Education Frame
work

4. National Curriculum for Policy Frame work

‘Class Room is a miniature society’ these words are stated by

I. KasturiRangan

2. Aristotle

3. John Dewey

4. Rousseau
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26.

27.

According to ‘RTE — 2009’ ‘Elementary Education’ is
‘RTE - 2009’ BFo0 “Sp08 §36” 0W3

1%~ 5™ Class

3" 8" Class

1%~ 7" Class

1% — 8" Class

b=

‘ADHD’ stands for

‘ADHD’ 20T3

I. Attention Deficit Hyper active Disorder

2. Arithmetic Deficit Hyper active Disorder

3. Attention Deviation Hyper active Disorder
4. Attention disorders in Hyper active Disorder

Author of the book ‘On memory’

1. Kohler
2. Koftka
3. Tolman

4. Ebbinghaus
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28.

29.

‘ABC’ card is used for
1. To record the student’s family background
2. To record student’s health status

To store credits earned by student from online and
distance mode

4. To record the transactions by students from online and
bank
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Reading disability
Dyslexia
Dysgraphia
Dyscalculia

1

2

3

4. Dysphasia
3
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30.

31.

One of the following is ‘Explorative Skill’

1. Predicting the reasons

2. Having self — confidence & faith

3. Thinking creatively

4. Estimating
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Identify the grammatically correct sentence.

1.

2.
3.
4

Parents work for there children
Parents work for their children
Parents work there children

Parents works for their children

Identify the correct verb for the sentence:

“Santana a singer.”

One of the following is the term for a person who is all —

1
2.
3.
4

1S
are
am

be

knowing:

l. Omnipresent
2. Omnipotent
3. Omniscient
4. Omnifarious



Identify the modal verb in the following sentence that
expresses advice: You see a doctor if you’re feeling
unwell.

1. would
2 must
3. could
4 should
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66.

67.

68.

Choose the correct capitalization for the name of a diety:

1. god

2 God
3. GoD
4 goD

The following is the correct practice when formatting
dialogue:

1. Use a single paragraph for all dialogue.

2. Place dialogue tags at the end of each sentence

3. Start a new paragraph each time a different character
speaks.

4. Use parentheses to indicate each character’s speech

Choose the sentence in the future continuous tense:
I. They will arrive soon

2 She is eating lunch

3. He will be sleeping at that time

4

I have finished my work.

Choose the structure for a negative sentence in the simple past
tense:

1. Subject + did not + base form of the verb
2 Subject + do not / does not + verb

3. Subject + will not + verb

4 Subject +is / am/ are + not + verb + ing



69.

70.

71.

72.

Identify the type of sentence: “Come home as soon as you

can.

> » b=

Declarative
Imperative
Interrogative

Exclamatory

He wanted to go to the park.

Identify the correct transformation of the simple sentence
above into a compound sentence:

1.

2.
3.
4

He wanted to go to the park, because he went there.
He wanted to go to the park but he stayed home.
He wanted to go to the park, so he went there.

He wanted to go to the park, although it was closed.

Identify the type of clause that adds information to the main
part of a sentence:

1.

2.
3.
4

The company offers excellent benefits.

Main clause
Dependent clause
Independent clause

Simple clause

, many

employees stay with the company for years.

Choose the option that fits the blank.

1.

2
3.
4

Nevertheless
In contrast
Although

As a result



Choose the correct sequence of the words in which they occur
in a dictionary.

1. difficult

11. dinner

11i. difference
v. demonstrate
1. iv, 1, iii, 1
2. iii, 1, ii, 1v
3. iv, iil, 1, 11
4. i, 1, 1il, 1v

Choose the correct spelling of the word.
I. hysterical

2 histerical
3. hystericle
4 hystaricle

Identify the correct example where the indefinite article is
used with few and little in a positive sense:

1. I have few friends.

2 I have a little time.

3. My brother has few friends.
4 My brother has little time.

They cancelled the game the rain.
Choose the correct preposition that fits the blank.
l. contrary to

2 except for

3. because of
4

in case of
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78.

79.

80.

“And now the forest is deathly still as though it were midnight.

Choose the synonym that means “still”.

1.

2.
3.
4

But more importantly, it is a tribute to some of the bravest

moving
active
busy

quiet

Indians.

Choose the antonym of the word ‘bravest’.

1.

2
3.
4

unadventurous
dashing
heroic

courageous

The following is the indirect speech form of:

He said, “Alas! I am undone.”

1.

2.
3.
4

He exclaimed hopefully that he was undone.
He exclaimed sadly that he was undone
He exclaimed that I was undone.

He exclaimed with joy that he was undone.

Choose the meaning of the phrasal verb ‘bring up’

1.

2.
3.
4

to lower or decrease something
to avoid discussing a sensitive issue.
to neglect someone’s needs

to raise a topic in conversation
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82.

83.

A: Who cuts Brain’s hair for him?
B: Nobody. He cuts

Choose the option that fits the blank.
1. Brain self

2 myself
3. himself
4 each other

Identify the interjection that would be appropriate to express
pain.

1. Oh!

2 Ouch!
3. Yay!
4 Hey!

Read the following passage carefully.

India’s art and architecture reflect a rich historical legacy. The
intricate carvings of temples like Khajuraho showcase ancient
craftsmanship. The vibrant murals of Rajasthan and the
traditional Madhubani paintings from Bihar highlight regional
artistic styles. From the majestic forts of Jaipur to the serene
Buddhist stupas, India's architecture tells tales of its diverse
cultural history.

The Khajuraho temples are known for their

1. modern design

2 vibrant murals

3. intricate carvings
4 Buddhist stupas
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86.

87.

Read the following passage carefully.

India’s art and architecture reflect a rich historical legacy. The
intricate carvings of temples like Khajuraho showcase ancient
craftsmanship. The vibrant murals of Rajasthan and the
traditional Madhubani paintings from Bihar highlight regional
artistic styles. From the majestic forts of Jaipur to the serene
Buddhist stupas, India's architecture tells tales of its diverse
cultural history.

Identify the type of artistic style highlighted in Bihar:
1. Murals

2 Carvings

3. Forts

-+ Madhubani Paintings

Identify the foundational skills for effective communication:
1. Reading and writing

2 Grammar and translation

3. Writing poetry and prose
4

Listening and speaking

Identify the activity that involves rewriting sentence for better
comprehension.

1. Note taking

2 Paraphrasing
3. Predicting
4

Role writing

Identify the method that emphasises oral communication and
natural learning process:

1. Grammar Translation Method
2 Direct Method

3. Bilingual Method

4 Situational Approach
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91.

Identify the advantage of CLT.

1.

2
3.
4

Emphasis on translation
Boosts confidence in language use.
Focus on grammatical accuracy

Suitable for large classes

Choose the best option that describes the position of English in

India.
1.
2.

English is culturally and psychologically dominant

English has multifaceted acceptance but limited cultural
influence.

English is solely a domestic language

English is rarely used for international communication.

Choose the best option that describes a general objective of

teaching English.

I. Enable students to learn only grammar rules.

2. Enable effective communication using English as a
medium.

3. Focus solely on written language skills

4. Teach English literature exclusively.
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93.

All the three medians of a triangle

1. Always lie in the interior of the triangle

2. Always lie in the exterior of triangle

3. Some in interior and somein exterior

4. Always coincides with sides of the triangle.
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The angle of rotational symmetry of a parallelogram is

2,00 BTPOTT 23BN LT TOLFTPR TR0 E 8ReS



94.

95.

The probability of getting a number which is neither prime nor
composite when a die is thrown is
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An item was sold for Y540 at a loss of 10%. Its cost price is
(in Rs.)
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97.

Amar purchased 2kg 500g laddoos, lkg honey cake, 750g
Jamoon and 250g Jilebi. Total weight of eatables he purchased

1S

1.
2.
3.
4.

4kg 500g
3kg 500¢g
Skg 500¢g
4kg

T 28.M90 500 M0 OWNRW, 1 3.M0. TIFET,
750 TR0 230300F°, 250Mo0 BSeR BROTB. BT
3R0T AWSORNY D) 2RF

1.

2
3.
4

4 8.M0. 500 TRO.

3 $.M0. 500 TRO.

5 $.0. 500 0.

4 3.M0.

In adjacent figure y+2x =

TIE WIRY  y+ 2=

1
2
3.
4

90°
180°
135°
45°




98.

99.

100.

Juveriya bought vegetables weighing 10kg. Out of this, 3kg
500g is onion, 2kg 200g is tomatoes and the rest is potatoes.
Then the weight of the potatoes (in kg)

20e00D 10 8.M0 3RTYY  ITTONYIZR, BROTD.

QWOY 3 MO 500 RO B;Y, 2 /WO 200 RO
WBRPC, WITH) CORNE STT 8 SORNRENRY

33(3.M90. NYY)

1. 4.3
2. 53
3. 4.03
4. 5.03

Number of intersection points of two intersecting lines is

ATH BT BeBNY eI oY Ao,
0

1.

2. 1
3. 2
4. 3

On certain sum, the interest paid after 4 years is 600 at 5%
rate of interest per annum. The sum is (in Rs.)

B3O BT BeS 5% LRTBOTROON 4 TTHENRYR LT
3600 28 T3 @I (TRTONNYY)

1. 2000
2. 3000
3. 4000
4. 2400



101.

102.

103.

In AABC, If AB=4cm, BC = 5cm, CA = 4cm then it is

1.
2.
3.
4.

Scalene triangle
Equilateral triangle
Isosceles triangle

Right triangle

2,000 &gk ABC 0DRY AB =4 Ko.oe., BC=5
20.200¢., CA=4 F0.eNC. STT ST 20T

1.

L

WO ST
AT 820

BRI G
©0WZRET SN

Two numbers are in the ratio 5:7.If their HCF is 3 then their
LCM is

QDT m’o&ﬁémﬂ ONTOZ 5 17 WOPYNT .F0.Y 3 STT
.50

b=

15
21
35
105

The supplementary angle of 56°
56° 0 TOTPTT FRCI

1
2.
3.
4

24°
34°
56°
124°



104. ABCD is a rectangle. If AC = 10cm then BD = cm

105.

106.

30HZ ABCD o9 AC=10 20.200¢. T3
BD = $0.200¢

1. 5

2. 10
3. 15
4. 20

The value of polynomial 2x* —3x+2when x = — 3

x=—3§§d 2x* =3x+2 &)53@53@@11033 e3e3

1. =25
2. 13
3. 17
4. 29

The ascending order of the following is

$UNIYrvD, WOE FHTY wIwR

A. 3 +2?
B. 32 =22
C. 32 x2?

32
D. ?
1. B,AC,D
2. A,B,D,C
3. D,B, A, C
4. C,A,B,D



107. Number of factors of 1001

108.

109.

1001 T ©9TZSEING m@%

b=

3
5
6
8

The mode of the data 5,6, 5,6,3,2,1,5,6,2,61s
32003 5, 6,5,6,3,2,1,56,2,6 I VYT

1. 2
2.

3. 6
4. 5,6

S5x+ % = %x —14thenthe value of ‘x’is

5x+%=%x—14 s333 X 233

b=
w



110.

I11.

112.

Which of the following is TRUE?
FSNTPNGY 0IPT ;)‘_35_2
36045 <30154

12121 > 121112

200202 > 200240

500811 > 500611

b=

In a bar graph, 3 units long bar represents 15.6 lakh population
then the population represented by 1 unit bar is (in lakh)

Boded WIBY 3 DTBRT WTAE FoE  15.6 ©F
zssﬁsogﬁsojamol BRWATT 1 DIBRT  LOZAWE  FOL
YOOIV &sa‘ﬁo&ﬁé (03N$Y)

1. 5.1
2. 5.2
3. 5.6
4, 5.8

1 . 1
Ifx+—=5 then value ofis x* +—
X X

L= 5808 Pt B3
X X

1. 23
2. 25
3. 27
4. 125



113.

114.

115.

Identify the non perfect square number

TPOF BNFBYT 7-6093503333& TSR,

1. 324

2. 361

3. 441

4. 449

The scale of a map is given as 1 : 60000000. Sonu measured
the distance between two cities in the map as 30 mm. The
actual distance between the two cites is (in km)

2,000 I edd Feed 1 : 60000000 HOT ZRTBONT.
5§O§D§28§ NTW INTNY ITRNT TRT 30 <0.€0C DOTD
AR @:9%3@633@%3. 8 TR INONY mc%@dm
JWIRT (3.20¢.1¥Q)

1. 2000

2. 1800

3. 20000

4 18000

‘Explaining the Mathematical logic’ is related to

1. Problem solving

2. Reasoning and proof

3. Connection

4, Communication

TIESZ S0BFTIONTY, DBWORTYTD' DOLTD facséé
BOWORATS

1. REAY, TOTT

2 FOTLAND SPIF)TN, TOPY WoOBIF)TR

3. ONTOTT

4 DI wégesdsa



116. Among the following is not related to “Good mathematics

Textbook”

1. Problems must follow the order of Difficult to Easy

2 It must enhance their social and cultural values

3 Practice sessions must be placed for evaluation

4. Enough practice exercises for self-assessment.

88 ISNIYNTY ‘B neds ﬁ%@iﬁ @39@ @gcﬁ%

1. ﬁds%ﬁ%ﬁ 3 x’oﬁ%@ocﬁ TOY3IR aoede®

2. TORI0RT, mom;@@s @@meq @m@%
TBRTOZ QTLIe®

3. @@asmwai%%ﬁ @sgegp% SERANTD QTLIER

4, B30 amémws m@&@%m TRV

DLIRATE QTLIER.



117.

Characteristics of Inductive Approach are

d.

c.

Formulated from the examples

Continues from the concrete things to abstract things
Generalization by doing experiments or Observing
Tests Formulae / Generalization / Conditions

From abstract to concrete

DNTT WPOTT OFEAN

a.

b.

Ll

YVTRIBTBRPOT BRECFTED [I0BI)TD 5630333:_%053
TRIE DTWONNVOT HTNRBE AROINSTEA
mm:ﬂd

BOIREMND WP QETHBAD TPWR DRV
mmaéesdsa scgomgd.
mgesdsamﬁo/mmasesdeaﬁ%/ QONTNLD
waegmwoé tada:id

OTRTE DTWONNYOT TNRBE RODNS 3TN
mrb:icﬁ.

b,c,d, e

a,c,d, b

a,b,c

a,b,d



118.

119.

120.

“Where there is rhythm, there is a number” is stated by

1. Adam Smith

2. David Weeler

3. Plato

4. Pythogoras

oo dQWITDdee WY FoL,  BTII”
EPRATITZT

1. BRI 3T

2. TET® DEOT°

3. GIRLRION

4, ﬁé@ﬂ&ax@

‘APeKX’ stands for
‘APeKX’ ‘-\boz 53%_)06%)6.

1.

2
3.
4

Andhra Pradesh e- Knowledge, x-Forum
Andhra Pradesh e Knowledge eXchange
Andhra Pradesh expert key persons exchange
Andhra Pradesh exchange e-knowledge

Meaning of the terms ‘Heurisco’

‘Heurisco’ 202 TRT OTE

1.

2
3.
4

I support
I find
Ido

I know

QOTV



121. When you measure the length of an object, the reading of the
scale at one end is 1.2 cm and the other end is 3.6¢cm, then the
length of the object is

1.

2.
3.

4.

4.8 cm

2.4 cm
3cm

1
—cm
3

20T 5#90335 emcf&wabol %@@80@ 980300N, z);w@s
20T DDON ©9$3 1.2 F0.20e, ma@om 30D
B9$3030 3.6 F0.80C. STT 3 a:gas emcfg)

1.
2.
3.

4.8 30.20¢
2.4 30.20¢
3 0.e0e

20.e0¢

W | —



122. Magnetic effect of electric current was first observed by

123.

1. Faraday
2 Oersted
3. Maxwell
-+ Volta

WWNFT TI[OBHOT YVOLRTT WONAROT TFIBTI,
BRY[RTL FoWHAT 2}

1 ep—aédcée

2 BS000° m;w
3. mss:d@@
4

8,00
ed

If two unequal forces act in the opposite direction of an object,
the net force acting on it is equal to

Sum of the two forces

1.
2. Product of the two forces

3. Difference between the two forces
4, Zero

2,000 BRI eSS DT WHOBDT O é)dacé)
D3IY FOORFITFLAETT, ¥TT I WOP)

1 NTE WONS a&ra:i%é ATV

2 DT WONRSY rbsamgp%é STV

3. NTT WONG IBIT 5:%:3% SRS
4

3D
303,



124. The fossil fuel used to produce thermal electricity is
1. Coal

2. Coke

3. Coal tar
4, Petroleum
@

DFT QTR E SOIWOFR WD TEOINYE QOTT
1 FOTED

M Q
2 B3RO
3. BRE® ERT°
4 BedReON0

125. 99% of air is a mixture of
1. Oxygen &Carbon dioxide

2. Nitrogen &Water vapour
3. Nitrogen & Hydrogen
4. Oxygen & Nitrogen

99% TRYOID T FSNT Tfo

L onds B DS 8 $8 @
2 SRR B T

3. JURRmT T BBR/RT

4 SEWINEEOWEVES IO



126. Find the parasitic plant
I. Pitcher plant

2. Drocera
3. Mushroom
4. Cuscuta

“WOOBOOW BRI, TOSF A
1
2
3. 92083
4

127. “Suicidal bags” of cells are
Ribosome

1

2 Lysosome
3. Centrosome
4

Vacuole

ReBERBTYT JCETSERNRANST LN QNS
1. t%a&raea&raew

2. eﬁdfuae BRe®

3.  RowderEeesy
4 CRTTOINED



128.

129.

The organism that pops out its stomach through mouth is
I. Starfish

2. Jellyfish

3. Amoeba

4, Snail

2ROWCD TRVT BeTTIF FONWRY, BRTLWIVUDT B¢
1 LW

2 2 Qe

3. (OIANIGAD!

4 WARDT O

The excretory organs in Nematoda are
1. Renette cells

2. Flame cells

3. Nephridia

4. Green glands
?Dm@ira@@:ﬁ@é@ﬁ Ntodatanlelataten
1. 33 Re3Ned

2 2D BRESNW

3.  ReR0Iw

4 TOTW® RORPNE



130. The chlorofluorocarbons are not released from
I. Burning of tyres

2. Refrigerators

3. Aerosol sprays

4. Air conditioners
39e0RCPQTRETVFT NN AQYNYOT DTN
BOROY

1. é%daﬁ%ﬁ&& RPTO0T

2 OR¥TeesT’,

3. QBRETOCF iemfa

4 Q0WT” FORCTIT N

131. Match the following

SET-A SET-B
1) Dogs wave tails a) Tactile communication
i1) Cats rub against objects b) Auditory communication
iii) Monkeys groom each other  c¢) Visual communication
iv) Wolves howl d) Chemical communication

3 $YNIRYR, BRODH WERD.

SET-A SET-B

i) Jo0WNL o a) ATET DPOT mawée_’;esds@
ORBRONE

i) eIBNed SRNRPR b) 3Beo PB/BFeFTE0

ii1) 303N agocjé\r%om c) T3 LRWHBFTCO
RBOBRHWTT

iv) 3Re¥Ned BRMPI d) CoTONIT LRRTEEITED

1. i-a, i1-b, 1ii-c, iv-d

2 i-b, ii-c, iii-d, iv-a
3. i-c, 1i-d, iii-a, iv-b
4 i-d, ii-a, iii-b, iv-c



132. The work that involves any skill to get an income is called

1. Profession

2. Hobby

3. Service

4. Volunteering

PIRL0Z FORT ROT TOTRTS BIPRIYTI),
%eRT,Z0

LA

2. @d@\i

3 Ress

4 BB

133. The State that does not have boundary with Madhya Pradesh is
1. Maharashtra

2 Gujarat

3. Jharkhand

4 Chhattisgarh

P IV TROON FOBE) BRONTT Tots,
1. mmm@

2 psfedenica
3. Z0FOTE
4

BT T



134. Munneru is a tributary of

1. River Godavari
2. River Krishna
3. River Penna

4. River Nagavali
"BRFLD B3 I0N LOTIO

1. RPCTOTO ID
%m—omsa

ﬁm@@

L

TOMORY I

135. The port Lothal was situated on the shore of
1. Bay of Bengal
2. Arabian sea
3. Indian ocean

4. Red sea
BRETS BB WOTTD T8 ABNG, CSOC%OﬁDQ QT3

1. wom%@@

2. o0 ARG
3. 00TR DOTIARBNT,
4. 30 AB[NT



136. The capital city that has an ancient name of ‘Ekasilanagaram’
is

1. Madhura

2. Dwarasamudra

3. Orugallu

4. Devagiri

33 OoRGER INOE DISGVINT’ D0 TS BAT
2olo

&
&
a

W~ (€3] N
E\‘)"
&
- o
&



137.

Identify the wrong statements regarding the British India

1.

ii.

iii.

1v.

Warren Hastings was the first Governor General of
British India in 1773.

Lord Mountbatten was the first viceroy of the British
India.

“A History of British India” was published by a
German economist James Mill.

In 1946, a mutiny broke out on the ships of the Royal
Indian Navy.

0

QST BOROIWY, FOWORA FOODYT THEYINTTY,
M R0.

1.

il.

iii.

1v.

b=

1773 89 2e3eT QORXRT RRTY NBIFT
HRTTS® W[TT BN,

QT BORCINT BRTO FFAVOIF COE'E
B[RO LT

BeRTFNST Q0w WIVET  OPETFY WL
QORCIP® WOF DO PTFBI), JFWITR
194609 ToOH® YORODT TWNTY 2.0t Ton
Sleloveicy

i, 11

i, iii, 1v



138. Find out the mismatched pair related to Indus Valley

Civilization

1. Main occupation  — Agriculture

2. Major entertainment — Wrestling competitions
3. Port — Lothal

4. Main God and Goddess — Pashupathi, Mother Goddess.
AOTR I3 TNOISR TOWOHA TOBROTT
BRCRODPZ, TOTOSAD

1L TR0 B — ITWD

2. TEND DIRETORS — WATTE

3. OB — BRETOT®

4. TP TEVTD — TWTS B VNI

139. The continent that lies completely in the western hemisphere is
Australia
South America

Africa

Europe

SO w%smc;rmwmg QD DOT
3% 90370

)
@3eo 9z00TD

1
2
3
4
%

p._\

SEYS

o Inlelnide

L



140. The India’s first satellite was launched in
PROTTTRY) IRLPRTO YWTRBID), YVEOONAT BRE
1. 1974
2. 1975
3. 1979
4. 1985
141. The 9"goal of Sustainable Development goals is
1. Reduced inequalities
2. Industry, innovation and infrastructure
3. Decent work and Economic Growth
4. Life on land
V)

3T ©9P[Q MONRTS) 93¢ 1O
@ POt 2

1. VABRTIONT), 3R TRBWYHID
2 %esmbé, BT W) WROLERT TOTORF N
3. oﬁxaeﬁé 3OR BB @@F%@&Qw@@@
4

BRIV DT BeRI



142. Identify the false statement regarding the distribution of
population

1.

4.

Many more people live in the north of the equator than
the south of the equator

Eighty percent of the world’s people stay in just 10
countries.

Almost three quarters of the world’s people live in two
continents, Asia and Africa.

The distribution of population in the world is uneven.

zﬁwsﬁ T0IR TOWOHR :«S—acs mﬁaa’n e 0

1.

mmc%dwjﬁ cﬁgsa%oé m:_%pcﬁ@ ézﬁgﬁ R
m%mg@p

BT wIHOBONY 80% HBIT eI 10
53@571@;@033@ am@.

To3 asmo&joja@ meﬁe mada& RID

TD
DTW @@@mﬂ@) mmogmoé

59
BTOWRTBOZ RJTOT, TOWE WITIIFOWOT
3RRT



143.

144.

These were used to detect poisonous gas in the period of
Vijayanagara kingdom.

L. Dogs

2. Donkeys
3. Canaries
4. Camels

DRODINT FOTWWRE, BYFONY AR WIONTZY, MISFALD
YRINTI), LWTOIRENDOST T

1. Spleveiaten

2. 3RV

3. IO I
4. Melrate

The percentage of Argon gas in the earth atmosphere is
BR W[OTORTRTY BNOFT WAVT 3e8BOTOTD

1. 0.93%
2. 0.39%
3. 0.09%
4. 1.93%



145.

146.

This is not correct regarding science

1. Scientific knowledge is humanistic.

2. Scientific knowledge is empherical.

3. Scientific knowledge is absolute truth.
4. Science has many values.

88 ISNIYNTDY ébmgsm:’_%éé BOWOTAYT),

1. a%zag;bﬁ YY) BT eoD SPORT, BROVTIZTI
2 ﬁézaga% mb&;\sa@ DR TRTToNTI

3. déza@a@ﬁ my@@ BOTREE &N m’éémﬂda:icﬁ

4 de}za@g@s 2RI DT BRPONLOT B3RP

These do not belongs to “psychomotor domain”
a) Imitating the drawing skills

b) Developing compassionate nature towards living beings
c) Handling the instruments expertly and takes readings
d) Identifying the relation between factors such as energy

flow and energy levels

* D3RR TT BOORE, BOWOTLYT)

a) 28T TWID TIOB/I), OVITH B[IWTYS

b) 23e[TRBNY W7 YDTOT FgowwR,  BYERWTS

¢) YOTITEONT), @@5@@06 W BRA, VOSVOINTI,
STROR T

d) 38 TAOTW, 33 DLYNYOTH WOBNY [RD
ROWOTWI, THTOEAB.

1. a,d
2. b, c
3. a, c
4. b, d



147.

148.

The board that has transparent glass doors and is locked to
secure information is

1. Bulletin board

2. Felt board

3. Plastigraph board

4. Magnetic board
TROTIFT MBI LPNLONTI), WERROREI, Wen T3,

QWO B[RSO, LTTRY QBB LRCTF QTN
1. 2B R

2. P, BeeEE

3.  TRR MOF LReEE

4. Slewaplelii o

The chairman of national steering committee that
recommended National Curriculum Frame Work — 2005 was

1. Pro. Yashpal

Dr. Lakshmanaswamy Modaliar
D.S. Kothari

Pro. Ramamoorthi

U@%@Oﬁb BHOIN ePFE - 2005 O, AFRTR IRRT
TOREOD TBTD FeNS0D @Cjﬁﬁ/ﬁ@ﬁbi—‘&e

.

£

p.—\

ol ©F LTV BRTDO3TDT®
e <

B.0%°.30000

3P, TORTREF

L



149. The general aims of social science do not include this
1. To explain human society

To promote world peace

: To develop patriotism

: Acquiring knowledge

BRETVAT AR, TOONT AT, TROODVFOY
) 12}

NNDIVN xmma‘% OB PRI

DTTVOSODT, BFROTYT

TeBE8oDT, BIHI

3
4
)

p.—\

L

mg@mé

150. The percentage of weightage given to the slip test in
Formative Assessment is

SRTHOYE meémwscseg OFO wbegﬁ TN OAT
Be3TOWOTD 5T,

1. 20%
2. 30%
3. 40%
4. 10%



